PRIVATE 
Questions – Plant Anatomy
1. Monocot root cross section differs from that of a dicot root cross section because
A) monocots have a pith; dicots do not
B) monocots demonstrate polyarch arrangement of vascular tissue; dicots do not
C) dicots have a cortex; monocots do not
D) A and B only
E) A, B, and C
2. What is the name of the tissue or layer that encases the vascular cylinder (stele) in roots?
A) Cortex
B) Epidermis
C) Endodermis
D) Xylem
E) Phloem
3. Monocot stem anatomy differs from dicot stem anatomy because
A) dicots have a ring of vascular tissue; monocots have a generally scattered arrangement
B) dicots have a well-defined pith and cortex; monocots do not
C) dicots often have a vascular cambium; monocots generally do not
D) A and B only
E) A, B, and C
4. Leaf mesophyll tissue comes from
A) vascular cambium
B) procambium
C) ground meristem
D) protoderm
E) trichomes
5. What is the primary photosynthetic tissue of a leaf?
A) Epidermis
B) Palisade and spongy parenchyma
C) Collenchyma
D) Sclerenchyma
E) Stomata
Answers:  1-D, 2-C, 3-E, 4-C, 5-B
